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APPLIED PHYSICS-1
Time : Three Hours Maximum Marks : 70
Note : )  Attempt total six questions. Question No. 1 (Objective type) is
compulsory. From the remaining questions attempt any five.
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i) Incase ofany doubt or dispute, the English version question

should be treated as final.
ol off vR & Wiy ar Rar 6 RRY F i g &
we Pl 3w SR
1. Choose the correct answer. 2 each
el SR B 99T HRg)
) Lightyearisthe unit of
(a) Time (b) Distance
(¢) Energy (d) Speed
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i) IfA-B=0 then angle between A and B will be
‘ T
(@ 0° ’ (b)  radian
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(a0) 0° (@) 5 X
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One Watt is equal to
(@) 1Joule/sec. (b) 10Joule/sec.
(c) 100 Joule/sec. (d) None of the above
W e SNER gl &
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The cause of surface tension is
(a) Adbhesive force (b) Cohesive force
(c) Staticelectrical force (d) Force of friction
U8 TG BT PRI &
(31) SIRISTED dat () TSI Fof
(W) R dga w1 () ufur aat
Heat transfer in solid takes place by
(a) Conduction (b) Convection
(c) Radiation (d) Allofthe above
o gerRdt § e wyHoRyr v fafYy @ g 2
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What is meant by least count of measuring instrument? Write
formula for least count of Vernier callipers. 2
fft w9 I3 & SreacHie | ST FT WHI & ? afiaR S
& IeqaHi a1 I iR
State the principle of homogcnelty of dimensions and check the

correctness of the equation V> = u2 + 2as by dimensional
analysis. Where symbols have their usual meaning. 4
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Explain the term error inmeasurement. Also explain the types of
errors in measurement. 6
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Define unit vector and zero vector. 2
g8 wly ik g wleg &t R RRY

Explain rocket propulsion on the basis of the law of conservation
of momentum. 4
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b{ Define linear velocity and angular velocity and establish relation

5. _A)
«b)

between them. 6
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Define Energy. Write its unit and dimensional formula. 2
St H ol R gudt g aen iy g3 faled
What is Limiting friction? Write the laws of friction. 4

e ooy @r 87 wdur & Fam foRed

Prove that the total mechanical energy of a freely falling body
under gravity is always conserved. 6

Rz FRR B 730 o7 QA g9 s H 1 i oot
WfEa <& gl

What do you understand by Torque? Write its example. 2
qor-amegel f e 87 F6d SaeR AR

Explain law of conservatién of angular momentum. Write its two
applications.
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What do you mean by rotational motion? Obtain an expression

for the rotational kinetic energy of a body rotating about an
i 6

axis,
Tl Y | 3 T ae 2 ol ae & uRa: e U fesedt
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Write statement and equation of Bernoulli’s theorem. 2

TG & WY BT AT qen wHfexr kel
Explain why steel is more elastic than rubber. 4
wihel, X 9 3ifties yewy a9t @7 angEd|
Explain surface tension on the basis of moleculartheory. 6
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Why is it easier to take hot tea in ceramic mug than metal mug?
2

i) 3 90T B e A <Y Pt 35 v o el s i @
g7

Calculate heat required to convert 0°C ofice of 50 gm into 100°C
of water. 4

0°C &1 50 g/ §% @ 100°C & 50 a4 gt & sgem & forw
AGLTD G Bt T HIRA |
Explain construction and working of Optical Pyrometer. 6

Define Specific heat and write its S.1. unit. 2
ffire S 6T oy gar S.1 D iR

Define angle of contact and write factor affecting it. 4
wel @ B Ry HRR a1 38 slkd 9 9 FRS
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Two wires of same material are suspended by equal weights.
The length of one wire is 2 m, diameter 1 mm and length of
second wire is 1 m, diameter 0.5 mm. What will be the ratio of
extension produced in two wires? ' 6
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